LogiLink.

manufactured by

CANOVATE®

Fan Module for Canovate Floor Standing Rack

Technical Features
al: | These fan units are required for the ventilation of
QAJT:I';:V:' 8:_?{2 sCteF?\/\ floor-standing-cabinets. They are installed under the top

. cover of the server- or network cabinet. It is equipped with
Foup:]egapfér;%:\/olfage. égO%Q_g_]%éor;/’mSO/éo Hz a thermostat, fuse and power cable.

Noise: 44-49 dB (A)

Fan Module - RAL 9005 Black

H D w Number  Weight Part No. EAN Code

(mm) (mm) (mm) of Fans (kg)

47 375 363 2 2.90 FAS121B 8698800001447
47 375 363 4 3.95 FAS122B 8698800001461

Fan Module - RAL 7035 Light Grey

H D w Number  Weight Part No. EAN Code

(mm) (mm) (mm) of Fans (kg)

47 375 363 2 2.90 FAS121G 8698800001430
47 375 363 4 8.99 FAS122G 8698800001454

Zmce
f— compliant

* The specifications and pictures are subject to change without nofice.
*All trade names referenced are the registered namework of their respective owners.




LogiLink.

manufactured by

CANOVATE®

411,50 49,30
g 1 — _ _
o
(-] o ] o [-]
@
I
N
R}
@
(-] -]
L L] ||
[e)
=]
=]
GENEL TOLERANSLAR
OLCU >0-6 >6-30 >30-120 >120-315 >315-1000 >1000-2000
DIN 7168-m TOL. +0.1 +0.2 +0.3 +0.5 +0.8 +12
BOLZEN YSB M4x15MAVI ZINK DIN 7985 2 040064502 S70 FAN INSTRUMENT ASSEMBLY 2
484 05316 5010 M5X10 YSB SCHRAUBEN 20 48420010NACU TERMOSTAT 1
484 10110 1640 NUT AK M4 BLAU ZINK DIN 934 2 48743113AAAF KABEL 3 * 1,5 TTR (BLACK MULTI PRESS WIRELESS) L = 2,5 Meter 1
484 10110 1650 NUT AK M5 BLAU ZINK DIN 934 2 Y13 0000X MBAA 4LU GEBLASESPATRONE 1
484 10515 1243 FLACHSTAHL M4 STAHL BLAU CHROM 2 484100316025 KABELVERPACKUNG M6 * 2.5 ISOLIERBARE FLAMMABLE 1
484 10515 1250 ROTIEREND FLACH M5 BLAU ZINK 4 484100372262 KABELADAPTERTRAGER 19 * 19 MM NAILLON 1
484 16020 ZPAC C14 STECKER 1 484100511011 KABELANSCHLUSS 3.6 * 141 MM WEISS 1
484 20010 CBED PVC TUR LOCH GROM 1.5 *20 * 25 MM 1 487601040409 M. BOX UNBOXED 375x525x70 mm (6x Lufter) 1
484 21010 SACR GEBLASE 220-240V 15W AC 50/60 Hz 0.12A 85cfm 42dB 4 48421010SDDB CAM SIGORTA 4 AMP 1
484 21010 SDEA 120x120 Lifter Schutzgitter 4 48421010SDGA KABEL 2X0.75MM 2 LI YASSI CORDON 0.3
485 63150 0200 Glassicherungshalter 1 48740540APM MACRON MIT 5 MM HEIZUNG K-53013 0.04
001269P00 4 LI FAN MONTAGEFILTERBLATT 1 4842101 1NDLV 4 LI FAN VERKABELUNG (KABEL + TERMINAL + HEIZMASCHINE) 1
001270T00 4 FILTERFILTER 1 484095103015 PEM S M3-1 STAHL BLAU ZINK

Zmce
— compliant

* The specifications and pictures are subject to change without nofice.
*All trade names referenced are the registered namework of their respective owners.




